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AHE-01 : HUMAN ENVIRONMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt 9 questions in all. Question no. I is 
compulsory. 

1. 	(a) Define the following terms : 	 1x5=5 
Biosphere 

Environment 

Sustainable development 

Hazardous waste 

Eutrophication 

(b) Fill in the blanks : 	 lx5=5 

(i) The areas demarcated especially for 
the protection of wildlife are called 

(ii) Diseases like silicosis and bagassosis 
come under the category of 
	 diseases. 
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(iii) A substance is said to be 	 

if it produces an injury after entering 

the metabolic processes of the 

consumer organism. 

(iv) Excessive irrigation in high 

	 zones causes salt 

affectation of soils. 

(v) Shifting cultivation is also known as 

	 farming. 

(c) Indicate whether the following statements 

are true or false : 	 1x5=5 

(i) The solar energy flow in an ecosystem 

is one way traffic and there is decrease 

in energy at each trophic level as a 

result of respiratory loss. 

(ii) Himalayan range is not affected by 

environmental degradation. 

(iii) Developmental projects have 

benefitted poor and needy of our 

country. 

(iv) Urbanisation is a result of 

industrialisation. 

(v) Proportion of various age groups in a 

population determines the 

reproductive status of the population. 

AHE-01 	 2 



(d) Give the answer in only one word/sentence :1x5=5 

(i) The process by which large number 

of people become permanently 

concentrated in small areas forming 

cities. 

(ii) The first ever major river cleaning 

project of our country. 

(iii) Leguminous crops are grown 

alternately with other crops on the 

land. 

(iv) The species that were once abundant 

but have since dropped drastically in 

number due to human activities, and 

now their very existence is in danger. 

(v) The precipitation or rainfall of the 

area that is discharged from that area 

through stream channels and is thus 

lost without entering the soil. 

2. (a) With the help of a suitable example, discuss 	5 
the phenomenon of Biomagnification. 

(b) "The energy flow in an ecosystem is 	5 
unidirectional". Briefly explain the 

statement. 

3. (a) How can the cultivation of High Yielding 	6 
Varieties (HYV) be harmful ? Briefly discuss.  

(b) What is green house effect ? How can it be 	4 
harmful to the mankind ? 
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A 	 .(a) 	Briefly discuss the human activities that 	3 

cause soil erosion. 

	

(D) suggest methods by which soil erosion can 	3 

be prevented. 

	

What are the aims and principles of 	4 

Environmental conservation ? 

5. (a) Elaborate the relationship between human 
	

6 

developmental activities and spread of 

human diseases. 

	

(b) Discuss with the help of two examples the 
	

4 

consequences of human developmental 

activities and elaborate any one in detail. 

6. (a) What is a population Histogram and what 
	

6 
information about the population can we 

obtain from it ? 

	

(b) Describe with the help of suitable diagrams 
	

4 
the types of population histograms that 

represent populations of : 

(i) 	Pakistan 	(ii) USA and 

(iii) Sweden 

7. Differentiate between the following pairs of 

terms : 	 2x5=10 

(a) Emission standards and Immission 

standards. 

(Ill Conventional and non-conventional energy 

sources. 
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(c) Chemical fertilisers and organic fertilizers. 

(d) Waste reuse and waste recycling. 

(e) Biome and community. 

8. Briefly describe the various human activities 
which cause deforestation. 

9. With suitable examples explain why social 

awareness is necessary for environmental 
management. 

10. Write short notes on any two of the following : 

(a) Need for environmental legislation 
	5x2=10 

(b) Thermal pollution 

(c) Niche 

10 

10 
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